Algebra IT
4.3 & 4.4 Solving Quadratic
Equations by Factoring

Obj: To set an equation equal to
zero, factor and solve.

(6.23)(7)(3.2/8.56)(6-6)(-18.3) =2

Solving Quadratic Equations

1. Set=100.
2. Factor the polynomial
3. Set each factor = to 0 and solve.

x* =18-3x 3x—6=x>-10
W+ =R =0 e X2 =4
O+ 6)YX—23)=° 0= X -H)x+1)
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Solving Quadratic Equations

1. Set=to0.
2.  Factor the polynomial
3. Set each factor = to 0 and solve.

9 —12t+4=0 18x2—-3x—-3=0

-2)t- D)0 Gy 1)) <0

3t -H=0 Sx+1=0 (¥ -3~
3t=2 Sx="1 '
i . __’
R -
= =

Solving Quadratic Equations

1. Set=to00.
2.  Factor the polynomial
3. Set each factor = to 0 and solve.

&x* +4x =14x" (x-1) -4=0
0= bx* +x XP-2x +1-4=0
0= 32X (3% + Q) x2-3x-3=0
i B (x-Dxc+) = ©
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Solving Quadratic Equations
Word Problems:

1.  Draw a picture and label the variable.
2.  Write an equation, simplify and solve it.
3. Answer the question.

One side of a rectangle is 4 feet more than twice the other side. If the area
is 30 square feet, find the dimensions of the rectangle.

RAx+4L) = 50
g(x"’?%—’—lz: %O AJX
FxIt+Ux-30 =0 i
2(x94ax-15) =0
2(x +8)(x-3) =0

(& TR e
X+5=0"\ X3 =0
—WQ x§—5 xX=3 4 answis

Solving Quadratic Equations
Word Problems:

1. Draw a picture and label the variable.
2. Write an equation, simplify and solve it.
3.  Answer the question.

The base of a triangle is one less than five times the height. The area is 38
square inches. Find the height and base of the triangle.
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Solving Quadratic Equations
Word Problems:

.1 . Draw a picture and label the variable.
2.  Write an equation, simplify and solve it.
3.  Answer the question.

One leg of a right triangle is four less than twice the other. The hypotenuse
is 10 inches. Find the lengths of the other legs.
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X2 (Qx-)"= 107 X
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